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< 91,346
Al 213,139
OHE0E RX3Y & =S =2 =t
ERSES 99,028,000 99,028
J| 49,514
< 14,854
Al 34,660
OZe HeEEs 429,320,000 429,320
J| 214,660
< 64,398
Al 150,262
OB 2HG =402 HlE ALY 1,776,000 1,776
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< 266
Al 622
HEEESSEMEH 2IHI(EX) 25,351 0 25,351
J| 12,675
Al 12,676
101 @124l 25,351 0 25,351
J| 12,675
Al 12,676
04 DIt 22 HEE =+ 25,351 0 25,351
OJIZHZ22XR 8 B+ 25,351,000& 25,351
J| 12,675
Al 12,676
HURR XA (BX) 9,850 142,548 132,698
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< 2,463
Al 2,463
307 120l & 9,850 126,548 A 116,698
Jl| 4,924
< 2,463
Al 2,463
01 2222l 9,850 126,548 A 116,698
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J| 4,924
< 2,463
Al 2,463
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OSHEXNIGEAHAY 22 &Y 2L
2,000,000& 2,000
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J| 45,500
& 9,100
Al 36,400
307 2iz2to| & 91,000 70,000 21,000
J| 45,500
& 9,100
Al 36,400
05 QIZ2tR E 2 91,000 70,000 21,000
O AHUXASE E&X =4 A& 91,000,000 91,000
J| 45,500
= 9,100
Al 36,400
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= 12,523
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- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 176
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202 o4 | 1,500 1,300 200
J| 750
= 150
Al 600
01 2L HI 1,500 1,300 200
O XDZEAIE EE 1,500,000 1,500
J| 750
= 150
Al 600
307 QI2t0| & 118,965 100,834 18, 131
J| 59,482
& 11,897
Al 47,586
05 QIZtREZ 118,965 100,834 18,131
O ZIIHAAS 118,965,000 118,965
J| 59,482
&< 11,897
Al 47,586
otstX ol2H| & Motz XN (Lo 2H|) (= 109, 196 109,800 A 604
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J| 54,598
= 10,920
Al 43,678
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J| 54,598
&< 10,920
Al 43,678
o1 o= 109, 196 109, 800 AN 604
O2&E X o2 H K& 109, 196,000 109, 196
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&< 10,920
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J| 31,590
== 3,950
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307 2Iz2t0| & 39,490 28,000 11,490
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Al 3,950
05 QIZ2tR EF 2 39,490 28,000 11,490
QLA N A Y 39,490,000 39,490
J| 31,590
= 3,950
Al 3,950
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el XHED AYAN X CER-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 2,800 3,360 A 560
< 840
Al 1,960
01 2222l 2,800 3,360 A 560
OO0l XIOtESUHRIIAY 2,800,000& 2,800
< 840
Al 1,960
d8-8 AZ2el 81,072 81,940 A 868
18- MNYET 81,072 81,940 868
201 L4l 16,072 10,000 6,072
01 At 22l 16,072 10,000 6,072
O2E==EH| 8,000
o 1&-8 ¥RFd 3,000,000& 3,000
ouwusg od 2 S22 HME 2,000,000 2,000
o T2 20 HE =3 ¢ M
3,000,000& 3,000
O=&l 2,000
o AE-8 MEFZ 2,000,000& 2,000
[ DR N g= 6,072
o dE-8 MEFX Xt& 28X 6,072,000 6,072
202 044l 3,000 3,000 0
01 = LH o4 1l 3,000 3,000 0
OI1E-8 g2 3,000,000& 3,000
301 YstE A 4,000 4,000 0
1MIIEELES 4,000 4,000 0
O1E-8 T28 2A=E
50,000 23] *»400H & 4,000
307 21201 A 58,000 58,000 0
01 92724l 58,000 58,000 0
OIE-E2CMY =88 Y (ELAEQ 9
E) 50,000,000& 50,000
O=&H 2 1,000& =3, 0000H 3,000
OG-l M P2 25,000& 2004 5,000
BHSYAYH (AYSI D) 82,140 83, 160 £1,020
Jl2dd(Adz2sd ) 82,140 83,160 A1,020
Jl2dy(AZ2s& ) 82,140 83, 160 A 1,020
202 O4dl 75,840 78,000 22,160
01 = LH 4 bl 24,000 24,000 0
OZE =20 100,000 20H x12& 24,000
02 FHOHI 51,840 54,000 A 2,160
OS8s 2Hdza 180,000& 24 »12& 51,840
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